# Acta Mathematica et Informatica Universitatis Ostraviensis 

Jaroslav Hančl<br>Something about Lindemann's theorem

Acta Mathematica et Informatica Universitatis Ostraviensis, Vol. 4 (1996), No. 1, 23--27
Persistent URL:
http://dml.cz/dmlcz/120501

## Terms of use:

© University of Ostrava, 1996

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# Something about Lindeman's Theorem 

Jaroslav Hančl


#### Abstract

The paper deals with the transcendency and algebraic independence of a special infinite series. The proofs use Lindemann's theorem and a certain combinatorial identity.


1991 Mathematics Subject Classification: 11J81, 11J85

## 1 Introduction

There is a lot of papers concerning the transcendency and algebraic independence of exponentials. In 1873 Hermite [4] proved the transcendency of the number e and in 1882 Lindemann [5] proved the transcendency of the number $\pi$. Up to this day we know about hundred different proofs concerning the transcendency of these two numbers. One of them we can find in [3]. In 1882 Lindemann [5] proved
Theorem A. Let $n$ be a natural number and $\alpha_{1}, \ldots, \alpha_{n}\left(\alpha_{i}=\alpha_{j} \Leftrightarrow i=j\right)$, $\delta_{1}, \ldots, \delta_{n}\left(\delta_{i} \neq 0\right.$ for every $\left.i=1, \ldots, n\right)$ be algebraic numbers. Then

$$
\sum_{i=1}^{n} \delta_{i} e^{\alpha_{i}} \neq 0
$$

A lot of results concerning this theory we can find in the books [2] and [6]. This paper deals with the special applications of the Lindemann's theorem and proves criteria for the transcendency and algebraic independence of certain infinite series.

## 2 Main Theorems

Theorem 1. Let $n$ be a natural number, $P_{s}(y)=\sum_{m=0}^{N} a_{s, m} y^{m}(s=1,2, \ldots, r)$ be polynomials with integer coefficients and $\alpha_{1}, \ldots, \alpha_{r}$ be linear independent algebraic numbers such that $\alpha_{s}(s=1,2, \ldots, r)$ isn't the root of the polynomial

$$
\begin{equation*}
\sum_{j=0}^{N} x^{j} \sum_{m=j}^{N} a_{s, m} \sum_{i=0}^{j}(-1)^{j-i} \frac{i^{m}}{i!(j-i)!} \tag{1}
\end{equation*}
$$

for every $s=1, \ldots, r$. Then the numbers

$$
\begin{equation*}
X_{s}=\sum_{n=1}^{\infty} \frac{P_{s}(n) \alpha_{s}^{n}}{n!} \tag{2}
\end{equation*}
$$

are algebraically independent.
Examples. The numbers $\sum_{n=1}^{\infty} \frac{n^{3}}{n!} 2^{n / 5}, \sum_{n=1}^{\infty} \frac{n^{6}}{n!} 3^{n / 8}$ and $\sum_{n=1}^{\infty} \frac{n^{2}}{n!} 5^{n / 3}$ are algebraically independent.

Theorem 2. Let $\alpha$ be a non-zero algebraic number and $P(x)=\sum_{m=0}^{N} a_{m} x^{m}$ be a polynomial with integer coefficients. Then the number

$$
X=\sum_{n=1}^{\infty} \frac{P(n) \alpha^{n}}{n!}
$$

is rational iff $\alpha$ is the root of the polynomial

$$
\sum_{j=0}^{N} x^{j} \sum_{m=j}^{N} a_{m} \sum_{i=0}^{j}(-1)^{j-i} \frac{i^{m}}{i!(j-i)!} .
$$

Othervise $X$ is the transcendental number.
Theorem 2 is an immediatelly consequence of Theorem 1 for $r=1$.
Examples. The numbers $\sum_{n=1}^{\infty} \frac{n^{7}}{n!} 7^{n / 9}, \sum_{n=1}^{\infty} \frac{n^{2}}{n!} 6^{n / 5}$ and $\sum_{n=1}^{\infty} \frac{n^{3}}{n!} 5^{n / 4}$ are transcendental.

Theorem 3. Let $P(y)$ be a non-zero polynomial with algebraic coefficients, $\operatorname{deg} P=N<q, q$ be a positive integer and $\alpha$ be a non-zero algebraic number. Then the number

$$
X=\sum_{n=1}^{\infty} \frac{P(q n) \alpha^{q n}}{(q n)!}
$$

is transcendental.
Examples. The numbers $\sum_{n=1}^{\infty} \frac{n^{4}}{(5 n)!} 2^{n}, \sum_{n=1}^{\infty} \frac{n^{3}}{(6 n)!} 3^{n}$ and $\sum_{n=1}^{\infty} \frac{n^{5}}{(7 n)!} 4^{7 n / 8}$ are transcendental.

To prove these theorems we need following three lemmas.
Lemma 1. Let $n$ be a natural number. Then

$$
x^{m}=\sum_{k=0}^{m} S_{m, k} \prod_{j=0}^{k-1}(x-j),
$$

where $S_{m, k}$ is the so-called Stirling number and

$$
S_{m, k}=\frac{1}{k!} \sum_{i=0}^{m}(-1)^{k-i}\binom{k}{i} i^{m} .
$$

Proof of this lemma we can find in [1] (page 110-121 of the russian edition).
Lemma 2. Let $r$ be a positive integer and $\alpha_{1}, \ldots, \alpha_{r}$ be linear independent algebraic numbers. Then the numbers $e^{\alpha_{1}}, \ldots, e^{\alpha_{r}}$ are algebraically independent.
Proof of this lemma we can find in [2] page 27.
Lemma 3. Let $n$ and $k$ be two natural numbers and $M_{n}$ be the set of all complex roots of the equation $x^{n}=1$. Then

$$
\sum_{x \in M_{n}} x^{k}= \begin{cases}n & \text { if } k \text { is divided by } n \\ 0 & \text { otherwise }\end{cases}
$$

Proof of Lemma 3: The roots of the equation $x^{n}=1$ we can write in the form $1, e^{2 i \pi / n}, e^{4 i \pi / n}, \ldots, e^{2(n-1) i \pi / n}$. If $k$ is divided by $n$, then we have

$$
\sum_{x \in M_{n}} x^{k}=\sum_{j=0}^{n-1}\left(e^{2 j i \pi / n}\right)^{k}=\sum_{j=0}^{n-1} 1=n
$$

If $k$ is not divided by $n$, then the roots create the geometric sequence and

$$
\sum_{x \in M_{n}} x^{k}=\sum_{j=0}^{n-1}\left(e^{2 i j \pi / n}\right)^{k}=\sum_{j=0}^{n-1} e^{2 i j k \pi / n}=\frac{e^{2 i n k \pi / n}-1}{e^{2 i k \pi / n}-1}=0
$$

Proof of Theorem 1: Using Lemma 1 we can write

$$
\begin{aligned}
P_{s}(n) & =\sum_{m=0}^{N} a_{s, m} n^{m}=\sum_{m=0}^{N} a_{s, m} \sum_{k=0}^{m} S_{m, k} \prod_{j=0}^{k-1}(n-j)= \\
& =\sum_{k=0}^{N} \prod_{j=0}^{k-1}(n-j) \sum_{m=k}^{N} a_{s, m} S_{m, k}
\end{aligned}
$$

where $\prod_{x \in \emptyset} F(x)=1$. This, Lemma 1, (1) and (2) follows

$$
\begin{aligned}
X_{s} & =\sum_{n=1}^{\infty} \frac{P_{s}(n) \alpha_{s}^{n}}{n!}=\sum_{n=1}^{\infty} \frac{1}{n!} \sum_{k=0}^{N} \prod_{j=0}^{k-1}(n-j) \sum_{m=k}^{N} a_{s, m} S_{m, k} \alpha_{s}^{n}= \\
& =\sum_{k=0}^{N} \sum_{m=k}^{N} a_{s, m} S_{m, k} \sum_{n=1}^{\infty} \frac{\prod_{j=0}^{k-1}(n-j) \alpha_{s}^{n}}{n!}= \\
& =\beta_{s}+\sum_{k=0}^{N} \sum_{m=k}^{N} a_{s, m} S_{m, k} \sum_{n=0}^{\infty} \frac{\alpha_{s}^{n+k}}{n!}= \\
& =\beta_{s}+\sum_{k=0}^{N} \sum_{m=k}^{N} a_{s, m} S_{m, k} \alpha_{s}^{k} e^{\alpha_{s}}= \\
& =\beta_{s}+e^{\alpha_{s}} \sum_{k=0}^{N} \alpha_{s}^{k} \sum_{m=k}^{N} a_{s, m} \frac{1}{k!} \sum_{i=0}^{m}(-1)^{k-i}\binom{k}{i} i^{m}
\end{aligned}
$$

where $\beta_{s}$ is a suitable algebraic number. If $\alpha_{s}$ is the root of the polynomial (1), then $X_{s}=\beta_{s}$ is an algebraic number and the numbers $X_{s}(s=1, \ldots, r)$ are algebraically dependent. If not, then we can write

$$
X_{s}=\beta_{s}+\gamma_{s} e^{\alpha_{s}}
$$

where $\gamma_{s}$ is a suitable nonzero algebraic number too. This and lemmma 2 implies that the numbers $X_{s}(s=1, \ldots, r)$ are algebraically independent.
Proof of Theorem 3: Similary like in the proof of Theorem 1 we have

$$
\begin{aligned}
P(n) & =\sum_{m=0}^{N} a_{m} n^{m}=\sum_{m=0}^{N} a_{m} \sum_{k=0}^{m} S_{m, k} \prod_{j=0}^{k-1}(n-j)= \\
& =\sum_{k=0}^{N} \prod_{j=0}^{k-1}(n-j) \sum_{m=k}^{N} a_{m} S_{m, k}
\end{aligned}
$$

where $a_{m}(m=0, \ldots, N)$ are algebraic numbers, $a_{N} \neq 0$. This, lemma 1 and lemma 3 implies

$$
\begin{aligned}
X & =\sum_{q / n} \frac{P(n) \alpha^{n}}{n!}=\sum_{q / n} \frac{1}{n!} \sum_{k=0}^{N} \prod_{j=0}^{k-1}(n-j) \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{n}= \\
& =\sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \sum_{q / n} \frac{1}{n!} \prod_{j=0}^{k-1}(n-j) \alpha^{n}= \\
& =\sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{k} \sum_{q / n} \frac{\alpha^{n-k}}{(n-k)!}= \\
& =\sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{k} \sum_{n=1}^{\infty} \frac{\alpha^{n q-k}}{(n q-k)!}= \\
& =\frac{1}{q} \sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{k} \sum_{j=0}^{q-1} e^{2 i j k \pi / q} e^{\alpha e^{2 i j \pi / q}}= \\
& =\sum_{j=0}^{q-1} \frac{1}{q} \sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{k} e^{2 i j k \pi / q} e^{\alpha e^{2 i j \pi / q}} .
\end{aligned}
$$

Let us denote

$$
\delta_{j}=\frac{1}{q} \sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} \alpha^{k} e^{2 i j k \pi / q}
$$

for every $j=0, \ldots, q-1$. Then we have

$$
\begin{equation*}
X=\sum_{j=0}^{q-1} \delta_{j} e^{\alpha e^{2 i j \pi / q}} \tag{3}
\end{equation*}
$$

Now we prove that there is $j \in\{0, \ldots, q-1\}$ such that $\delta_{j} \neq 0$. Because of $S_{N, N} \neq 0$, the polynomial

$$
\delta(x)=\frac{1}{q} \sum_{k=0}^{N} \sum_{m=k}^{N} a_{m} S_{m, k} x^{k}
$$

has degree $N$. The number of elements of the set $\left\{\alpha e^{2 i j \pi / q}, j=0, \ldots, q-1\right\}$ is equal $q>N$. Thus there is $J \in\{0, \ldots, q-1\}$ such that $\delta_{J}=\delta\left(\alpha e^{2 i J \pi / q}\right) \neq 0$. Finally this, (3) and Lindemann's Theorem implies, that the number $X$ is transcendental.

## References

[1] Aigner, M., Combinatorial Theory, Springer (Moscow, 1982), 1979.
[2] Feldman, N. I., Hilbert's Seventh Problem, Moscow (russian), 1982.
[3] Hančl, J., Two Proofs of Transcendency of $\pi$ and $e$, Czech. Math. J. 35(110) (1985), 543-549.
[4] Hermite, C., Sur la fonction exponentielle, Compt. Rend. Acad. Sci., Paris 77 (1873), 18-24, 74-79, 226-233, 285-293 (Euvres 3, 150-181).
[5] Lindemann, F., Über die Zahl $\pi$, Math. Ann. 20 (1882), 213-225.
[6] Shidlovskii, A. B., Transcendental Numbers, Walter de Gruyter, 1989.

Address: Department of Mathematics, University of Ostrava, Dvořákova 7, 70301 Ostrava 1, Czech Republic, e-mail: hancl@osu.cz

